SUMPOEBIESAINTOI S L

SuMPO SuMPO EPD — R R A AT TR
‘.E pD /51/(7°||| Iﬁiﬁﬁg (EPD) ERBTREKXAHET-14-8
VERIFIED KANDA SQUARE GATE
%ﬁ%% ¢ JR-AW-23003E-A https://ecoleaf-label,jp
@) JFE 27 e
JFE sp=» .
BFEEEY. RO AR

Steel Plates for Offshore Structures
and Wind Turbine Support Structures

HEHL ERES JR-AW-23003E-A
- EAPCRES  PA-180000-AW-05
PCR%& gifE e (2FAZRO  (RREED
HE X SRR 2ARA 2023298158
misd ) W RAEL REEETEE 2025428128
EERRE (EMHOHRE &%, Meoilis) RIEA R & mBREE A =
RUREEEZE RIAES JV-AW-24038
RIEEEIR 2028468 29H
HEOBK, TEMLHK-F#ET PCRLE1-DEHE
BIYEY A REBZ 2023%F 58 10H
P EARSGAT (BLHtX, BButX) £2E W &t
RAARESKRT (GUEHX) Fr A
FHRARE EEERILE

JIS, ASTM, AP, EN, iR ZEDEBEYEITORERE A ERIire Pl =ik
RUTNEER-ACEEREDIHETRTE

®fFEMIC, FEELH ISO14025(CAE 212 A E E R UT -5 ORI LIAREE
Ak - B3R (J-TerraPlate® &) CRER [ PN
*YAT LWRAEZ I EEERNORIEDIB A, VAT LREEIT>EEEED
ZEIEHE,
FWEhtEk
JFEAF-IRH S EREI5-58
https://www.jfe-steel.co.jp TEL: 03-3597-3111

E#Hx&ES 1 JR-AW-23003E-A



SUMPOBRIEIANIL OIS L

SUMPO SuMPO EPD

— A AP AT P TR E S
N ..E pD 1T NEBEEES (EPD) ST RERPIHET-14-8
VERIFIED KANDA SQUARE GATE
BEES ¢ JR-AW-23003E-A https://ecoleaf-label.jp
OF17V 1V EFmER
REMR S+ EiEZEx 1 EEDFH %2 =11y
SRZEE) IPCC 2013 GWP 100a 1.9E+03 3.0E+03 kg-COzeq
[7gex(d -7.5E-01 8.7E-01 kg-SO-eq
BREL 2.6E-02 4.5E-02 kg-PO.*-eq

%1: [A1~A3] + [D] x2: [A1~A3]

AR o ast [A1][A2] (A3] (D]
1HH [REH R DFE - Hix REDEE REE
SUREZEE) IPCC 2013 GWP 100a | kg-CO:eq 3.0E+03 8.2E+02 2.1E+03 -1.1E+03
AV ERRIE kg-CFC-11eq 5.9E-07 1.1E-07 4.8E-07 -1.9€-07
43[4 kg-SOzeq 8.7E-01 4.3E-01 4.4E-01 -1.6E+00
HALFAFII U kg-Cz2Haeq 8.7E-03 7.3E-03 1.4E-03 -2.3E-01
EREL kg-POs*eq 4,5E-02 1.1E-05 4,5E-02 -1.9E-02
@ B8 e 15 ©) N (B8 AEERLE
1HH B mE-YE (ERRS) B
FBEETREER 1.4E+03 kg #K[Fe] =90.2 %
FEBEEFRIRIY- 3.5E+04 MJ RFE[C] =06 %
BERREER 1.0E+03 kg T4 #&[Si] =10 %
BAERTREIRILF- 1.1E+02 MJ YA [Mn] =20 %
HKDEE 2.2E+00 m? 24 )b [Ni] =40 %
270L [Cr] =10 %
EUTTY [Mo] =06 %
@BEEYESE SR $A [Cul =05 %
1HH B y> [P] =0.05 %
BEREY 0.0E+00 kg B [S] =0.05 %
EEREREY 1.8E+00 kg

HIATHAIWICBIBEEYBERLTVNET,

OHETERBRICET ZENMIEH

“AKREPDIIYAT AL REEAE I CEELLER THD,
FEEREE L LT, JISQ0915ICE ISR B U B 1V sh REHEL, EROID]ICZDEELE L,
mEE N3 ESEnR[A1),[A2) [A3]OAEHEICIMESNS,
SHEICERLEVYMIIVEGIZ % (FHEILIISQ20915IZ5EL). 2018EEOERNT-4 (L : BASKmES.
sEHE. AF-IEVY1IIHS) &EH)
CBREBEHOBEFEIMRBO—RT-ITEEL.
REBHEG. (BN, —REBEE10LTH. 204EE |QRERZFBLE
MBI R EICEET BB DI ONT, SEUA I R EBZMMRIZOR LRRIEDSERADEDERT,
ART-HIE2018FEEDT-F&ERALE,




SuMPO SuMPO EPD
| .. D s7nmEBESE (EPD)

VERIFIED

Z5&ES 1 JR-AW-23003E-A

SUMPOIRIESNINTOT5 L
—MAEEE AT AT IR EHEER
RREFTHHEXAHHE-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jp

©-1.ZDitbDIRIFRIEIFER

ISO14001RELH THRIEL TS,
®) 5 =24 58 3 A= ER
I5H CAS No. EREF
NYHY [Mn] 7349-96-5 HEIRLEE L
Zwi b [Ni] 7440-02-0 HEIRLEE L
0L [Cr] 7440-47-3 HEIRLEE L
EUTTY [Mo] 7439-98-7 HEIRLEE L
XLk [Col 7440-48-4 HEIRLEE L
R [Cu] 7440-50-8 HEIRLEE L

OERLEZRT-9DEZH

IDEA v2.1.3 Z2EALTE, £ A7V TREM (RT5vTLC) FREMEHFES 1 JP-AJ-0001%EA L~

®fE

AR
B8R (J-TerraPlate® &)
EFHA®E
EEEEY. RHRBRETIFYREOEEY
ERIRE
JIS 5 G 3101, G 3106, G 3114, G 3125, G 3128, G 3129, G 3131, G 3136, G 3140
ASTM ; A36, A131, A283, A529, A573, A633, A709, A678, A514
APl ; 2H, 2W
EN ; 10025, 10113, 10225, 10137
NORSK ; M-120
NK#AHE ; KA, KB, KD, KE, KE KLORTEIL—F, HXUABS, BV, CCS, CR, DNV, KR, LR, RS, RINA, ZCEDRIZE 1
NBER-ACEERLDFETRETIEDBEE,

ZER : 2025938 YATLBERRUTOCANAOERYFEVNEEE L

@7 -YEENAHEE. PCRELVEE - EEHEESRBL WIS,
OLLRIIDVTR. BE - EERBEICHRESNLREER/LLLHELLIRDONIEA,
(BB5URL ! https://ecoleaf-label jp/regulation/)

E#HxE\ES | JR-AW-23003E-A



